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{i} To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet without
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nor any extra time will be given.

{iiy After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR Answer Sheet
Number should be entered on this Test Booklet.

4. Each item has four altsrative responses marked (A), (B), (C) and {D}. You have to darken the oval as indicated below on the correct
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5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — 1l only. If you mark your response at any
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with you outside the Examination Hall. You are however, allowed to carry original question booklet and duplicate copy ot OMR Answer
Sheet on conclusion of examination.
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Paper - 1i

1. According to Jainism, what is the nature | 1. %ot (QARURL AGAUR sllole] AU 39

of knowledge ?
(A) Concrete
(C) Manifold

(B) Absolute
(D) Divine

. Which experience shows the highest
state of Advait ?

ERERI

(B) SRS 35H, W
(C) wemfy

(D) Y9 Fa:

. What is the function of psychic sheathe
{(Manomay Kosh) ?

(A) Take unshakey decisions

(B) Co-ordinate the physical {Annamay)
and vital (pranmay) koshas

(C) Acquire discriminative knowledge

(D) Observe the emotions and feelings
objectively

. Make correct pairs :
i. Freedom and a. Nel

equality for Noddings
women

ii. Ethics of care b. Savitribai
in education Phule

iii. Removal of ¢. Vivekanand
inequality based
on casteism

iv. Training o d. Wollstone
women for Craft
professional
careers

(A) i—a,ii—d,iii—c,iv—b
(B) i—c,ii—a,iii—b, iv—d
(C) i-c,ii—d,ii—a,iv—b
(D) i-b,ii—c,ii-d,iv-a

& ?
(A) M (B) R:a
(C) wganan{l (D) (et

. 56 Uole(d wdctoll nlzu weran

gafd B ’;_@ﬁ

(A) 3EH

(B) ST 3¢H HeiH|
(C) il

(D) I3 sigt:

. Mol Slale] st g & ?

(A) Y3 el Al

(B) uAHA ol YRHA Sl2le] UsEoel
54

(C) QAsstictell YA sl

(D) AL 1 cAR{¥lle] ettcHcell
Aaw s2d

. 29 S| el :

i. Bl 12 }adatel a. Qe ARy
el UHLolL

i. Qe deune] b, wlQolluus A
EGEEC

iii. st 2R
wAHLotcAloll

LI
iv, calcldl@s sRGET d. dleeloisise

2 HRcula
lellH

(A) i-a,ii—d,ii—c,iv—b
(B) i—c,ii—a,iii—b,iv—d
(C) i—c,ii—d,ii—a,iv—b
D) i-b,ii—c,ii—d,iv-a

c. [Qadslole



5. What does ELEU{ means in the motto
T, R, greuy 7

(A} To see the excellence

(B} To demonstrate highest morality in
our practices

(C) To realize the innate unity in the
COSmMos

(D)} To experience perfection in the
universe

. Which of the following statements is not
true to pragmatist education ?

(A) The teachershould aliow the students
to discover new values

(B) It is imperative to arouse students’
innate powers and interests

(C) The teacher must plan for students’
active participation

(D) Theteacher mustgoin the classroom
with a precise lesson plan

. Sociology analyses the ‘process of
interaction’ as

(A) Conflict
(B) Enlightenment
(C) Thinking
(D) Welfare

. Which stage is not required to undergo
for a ‘Self in accepting a culture ?

(A) Imitating others’ activities
(B) Attending school for some years
(C) Playing role of different
professionals
(D) Get engaged in playing organized
games

5.

UcdY, [@ay|, Y — HL ‘YeW
Wed g ?
(A) A6clle] £9lat 524

(B) cAsRML GudH aAldsdl eafac

(C) [QuHl QAR Asauc) WaLSIR
52l

(D) UHIL U%¥etHl 23l yeleiloll ojeial
s

. ofllAel WSl 53] (Quiot cacslReuel

Qe 12 Wy otefl 2

(A) Qe QeanellAaA otai yelloll 2k
HR 92 wudl Agu

(B) [deusl2Aloll WiciRs AGERA ol
U Aot sl WAy §

(C) Blas @Qeauell2All G cwdlleldl
HIZo] w2 el 54 HESH

(D) @&l aolul Assesygl vuleet
A8 o % SR

- AHErR wicdBael yBag

BRI 3% 52 B.
(A) dud

(B) Yojtilet

(C) ([Quzeu

(D) scauRL

. dslaa QclotHi wflgd sal W2

calfSetott ‘wel’al sl dotssiHiell uaR
Ycie] w33l olefl ?

(A) ollestoll ugRie] 2iofs20L 824
(B) &lst anl Yyl auani g

(C) [QEa cacu@all g@st elrad]
(D) AIUBc M HAHL el AA
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S.

10.

1.

12.

Which of the following aim of Tagore’'s

Vishwa-Bharti connotes social change ?

(A) Toawaken the spontaneity in human
soul

(B) To create more intimate relations
among different cultures

(C) To establish nature as the best
teacher

(D) To inculcate change in children
through aesthetic experiences

Family is the main agency to develop
in the child.
i. Personality
ii. Socialization
ili. Traditions
iv. Customs
(A) iandii (B) ii and iii
(C) iiand iv (D) iandiv
Which one of these is not one of the four

pillars of education highlighted by Delor's
Commission ?

(A) Learning to know

(B) Learning to have

(C) Learning to live together
(D) Learning to be

Based on the recommendation of
Commission, the First

National Policy on Education was

formulated by Government of India.

(A) Kothari

(B) Mudaliar

(C) Radhakrishnan

(D) Yashpal

9.

10.

11.

12.

21l [Aneudle 53 cea wHBs

URedota YR 52 B ?

(A) HofRUotll MHHL 1% clle] A0
59

(B) @AY gl a2 ay wlw
saald

(C) [adledll A @Rlats dly @uuetl
scll

(D) Wealaall wagecl glt slnsHi

URadet dieq

Wlasell ot [Asty M2 sdu 3l
Yo A@sdl 8.
i. callsleet
ii. AHL%S0L
fii. URURAB
iv. 3032
(A) | wa ii
(C) i W iv

(B) ii vta il
(D) i wa iv
3R UU gl RERA Rawet R
rclellHl el qHdel Ul otell ?
(A) sllotullel HI2 vlkalol

(B) WLHCll HI2 wtldol

(C) Ue%Wclol HIE 2Lt

(D) ARl HI2 UtL2Aol

el eletgett AR elkd
w52 Blagel yun Andla «lddl
Ul scllHl 1AL

NECE

() qelQau?

(C) RALUSWIot

(D) 2wt
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13.

14.

15.

16.

Which one of the following is not a
component of National Knowledge
Commission (2006 — 2009) Report ?

(A) Borrowing of knowledge
(B) Access to knowledge for ali
(C) Knowledge concepts

(D) Delivery of services

No nation can progress in the absence of
(A) Social progress

(B) Political progress

(C) Economic progress

(D) Technological progress

Which Commission recognised the
strengthening of social and national
integration as one of the main goals of
education ?

(A) Secondary Education Commission
(B) Education Commission of india
(C) National Policy on Education

(D) Revised National Policy

The course structure of the NCFTE 2009
inciudes

1. Perspective in education

2. Curriculum and pedagogic studies
3. Engagement with the field
4

. Philosophy, psychology and
sociology

(A) 1,2,3and 4
(B) 1,2 and 3 only
(C) 1,3 and 4 only
(D) 2,3 and 4 only

13.

14,

15.

16.

o{lRatl UL 53] Al stist WA
(2006-2009) Wdcllco] us ol ?
(A) Aol WAL Gello siat Ag
(B) olul HI2 sitel YL 8lg

(C) sitetoll [QewatotAl
(D) Acuxll Y3l wsell

ol JReAUl 5 Eal
yald all atsdl «tell.
(A) AH(Rs yaula
(B) A2t yould
(€) dulels yauad
(D) dslisl yalq

sl (Rla Ul [Qewett Yual A2 Ul

Ws A2l UHURS AR AU Asaal
Yaad scllell acunal s3cll ?

(A) HIRs Rlaw du
(B) etrlal [latel v
(€) @awell 20l oA
(D) Al 0dlat oA

NCFTE 2009 oll 2GS H HIOWLIHL
ollell AHLALL 2N & ?

1. RQawel uWRle

2. AGRAUUSH Vol LAYt
;ALY

3. AxsdHl Uil ug
4. 3y gl, HolllQsuot ol AR
(A) 1,2,3ua 4
(B) 1,2ua 3
(C) 1,3 ua 4
(D) 2, 3w 4
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17.

18.

19.

20.

Which of the following Committee/
Commission exclusively addresses
Teacher Education in India ?

(A) Yashpai Committee
(B) Justice Verma Committee
(C) Kothari Commission

(D) Chattopadhyaya Commission

Who governs the academic policies of
the colleges of education ?

(A} NIEPA
(B) NCERT
(C) NCTE
(D) NAAC

Which of the following is not an advisory
board of education ?

(A) UGC
(B) CABE
(C) NCERT
(D) NAAC

Which is the first Open University in

india ?

(A) IGNOU, New Delhi

(B) Dr. B.R. Ambedkar Open University
in Hyderabad

(C) Dr. Babasaheb Ambedkar Open
University in Ahmedabad

(D) Yashwantrao Chavan Maharashtra
Open University in Nashik

17.

18.

19.

20.

oflAett Ul 52 Y /AR ettt
HIA Qlew-yllawal o tatetHi geullal
AALHOL 53 B 7

(A) aguc 1M
(B) %l aul yA@
(C) sledl dy

(D) uglwtana

OEERITNCENENRIEL
(QauslasllQe] et s 52 & 2
(A) NIEPA

(B} NCERT

(C) NCTE

(D) NAAC

oflAott USl 52 (awgl UcUssR HSO
atell ?

(A) UGC

(B) CABE

(C) NCERT

(D) NAAC

AlRcle] yar ved QulQanca s & 2

(A) IGNOU ol (el

(B) SLolluR.uiiAss: v ust
Yaldl, Be2loue

(C) sLolouudol UiGlSER WUt
YeRllEl, wnelale

(D) yaddRa Walgl Halg B Ust

YA, suRs
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21.

22,

23.

24,

The statistical test developed by
Spearman to find out the underlying
factors of intelligence is

(A) Factorial design
(B) Analysis of variance
(C) Factor analysis

(D) t-test

Which of the following statements is not true
in the context of an intelligence test ?

(A) An intelligence test can be
standardised

(B) An intelligence test can differentiate
between persons with different levels
of intelligence

(C) Intelligence test sets norms

(D) An intelligence test has to be
administered to one individual at a
time

Which of the following is best described
as an eclectic theory of learning ?

(A) Bandura’s Social Learning Theory
(B) Gagne’s Theory of Learning

(C) Skinner's Operant Conditioning
Theory

(D) Piaget's Theory

Which of the following is not a stage
theory ?

(A) Piaget’s theory
(B) Erickson’s theory
(C) Bandura’s theory
(D) Freud's theory

21.

22,

23.

24,

o @l ARt ueslal ALl stect W2

RU220 A gt [Qsacta waal
viseulla sA0Eof oM g B ?

(A) dlca(ds Degell
(B) [Qurul [QeAue
(C) ues ([Qaauat
(D) &l-sHél

ol sl deelil ol Aoniell 53
Qe Wy otell ?

(A) oS s:loj yruellsQ us 2 8.

(B) ojfe 52l g€l €l seudl offe
wnddl REARDA 4 A swudl
A B,

(C) of& sAEl Hetisloll @uUol 52 8.

(D) Al cuid As % =ABA UR ol
s &l AUl us uF B,

AlAcutHigl 56 dladlal wtaiaiotoll
adauRondl dladl 313 wdl 4a

wlnuidl asta ?
A) olig2nell auRs utae fladl

(B) ool Attt el
(C) @elell s12s wilelRituotell flaudl
(D) Rauzell adl

oflAott UGl 52 @gict coisst eeladl
Raict ool ?
(A) RuBall

(B) ARsuatall
(C) oligAall
(D) §&sell
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25.

26.

27.

28.

Which of the following does not involve
meta cognitive thinking ?

(A) Monitoring the performance of
oneself on a given task

(B) Comparing the performance of
oneself with that of another

(C) Analysing the capabilities of oneself
on a mental task

(D) Introspecting the ability of oneself to
apply cognitive strategies

Negative reinforcement refers to
(A) Presenting an aversive stimulus
(B) Withdrawing an aversive stimulus

(C) Administering punishment

(D) Giving negative remarks

An approach to counseling in which the
therapeutic process is based on the
judgement of the counselor is called

(A) Non-directive counseling
(B) Directive counseling
(C) Vocational counseling

(D) Occupational counseling

The procedure of asking clients to
enact a role during counseling was
propounded by

(A) Carl Rogers
(B) Sigmund Freud
(C) George Kelly
(D) Carl Jung

25.

26.

27.

28.

ol Aol A wHi AU uetsl

Guallal Ul o2l ?

(A) WAL 513 £ 2Uet Wetloll Buitel
(Blddot)e] Boisiarl 524,

(B) Wellell 2ultetell ollostatt Buttet
A wRvuHell 52l

(©) HetRs sl scll ama Wesll
- cllle] QeAng 52
(D) clltlleds YyBxiilell Gualless

gfallet Weltoll Alsele] uictedlet
52¢

ol Aotimiell 53 AslRAAHS Yaas
golld & 7

(A) dldsn Gaws wudl

(B) uldgn Grors wiesl Wl

(C) At 52l
(D) etsiRleds Ruagll 524l

Bu Aclesiell [Qasele
UR Guau ugldell iz
8lal Acl uctesl-u1@oH

sl B ?
(A) Bl auyus dclesd

(B) Rauyus ucuesta
(C) calaul@s uclestad
(D) tirusta ucuestal

aciestd exRuel wAlaa s
o5 elosclcllo] sdaUHl WA -

A sAQ@ S yQuizd sl & 2
(A) sid Al

(B) Rxis 818s

(C) 2o 3cll

(D) sid 2jal
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29.

30.

31.

32.

Which of the following is not a principle
of guidance ?

(A} Guidance is required throughout
one’s life

(B) Testcan help ineffective understanding
of the client

(C) Guidance counselor has to suggest
what to choose when the client is in
confusion

(D) Guidance believes in individual
differences

Which of the following is not a principle
of development ?

(A) Development is continuous
(B) Development is directional
(C) Development is irreversible
(D) Development is universal

Which theory of Habermas is useful way
to explore knowledge and its impact on
students engagement ?

(A) Critical theory
(B) Social theory

(C) Knowledge constitutive interests
theory

(D) Theory of communication action

What was the motto of Sarva Shiksha

Abhiyan ?

(A) Education for minorities

(B) Education for all low income
groups

(C) Education for all

(D) Education for CWSN

29,

30.

31.

32.

olAetl U8l sl Rgicd Hlesletell
el ?
(A) ¥MIY Yol £ 2ot caulselal

Holedlotell %32 23 B,
(B) et i Hecetoll UM Ulict
sall IR 5L Aslau3u A 8,
(©) AR et Yparul a @R
AQ 2wl wieoll scll Aef Yot
Hlesld v sl 8.

(D) H2leslot clsAdtet cstadlmi
Hla 8,

lAotmiell 52 Rglcd [@stiell
Rgid oi2ll ?

(A) @si Wdyd 8.

(B) [@Asiu Rauyus 8,

(C) {Aslu wus B.

(D) s wd@s B.
stioto{l 90U Sl HIZ AR

Qe ezl UGB %lstel u Asll

WU ARl HI2 JoRHLI 521
Rgid Gualol B.

(A) [@QAUAHS Rald
(B) uHIRBs Rgid

(C) sltot RUUHS 24 Rgid
(D) dYnel Zuel Reid

udlen u@aotoll HalAW 9 &cll ?

(A) ayudlale] Qe

(B) MM [astadlels clteu ogdile]
Rlael

(C) i {2 Qe
(D) CWSN of @l




34.

35.

36.

37.

Eﬁ .

33.

In which method of collaborative learmning
the main purpose is to develop listening
skills in the students ?

(A) Fishbowl strategy
(B) Problem solving
(C) Circle of voices
(D) Jigsaw strategy

ERIC is a unit in which one of the
following organisations ?

(A) NIRF
(B) NIEPA
(C) NCTE

(D) NCERT

Which of the following is the purpose of
arranging seminars for teachers ?

(A} For change of environment
(B) In-service teacher evaluation

(C) Pre-service teachers professional
development

(D) In-service teachers professional
development

The professional teacher constantly
upholds the honour and of
his/her profession in all his actions.

(A) Value
(B) Status
(C) Authority
(D) Dignity

Which of the following is not a characteristics
of professionalism 7

(A) Morality
(B} Kindness
(C) Popularity

(D) Competency

33.

34.

35.

36.

37.

ollActtigll UsAN st 565
ugldell yuat &q (Qaueflvle] sianl
slacal [@Qsulcelol & ?

(A) (B cygUsll

(B) uHRU G3ct

(C) ubet vy ASYlor (voices)

(D) (Bl cygusll

ollAotmiell s2ul otsete] Ws AsH
ERIC &7

(A) NIRF
(B) NIEPA
(C) NCTE

(D) NCERT

[Rasl W2 ARelRe] vt

scllell ol Aottniell s20 3q B ?

(A) wataReiMl uRadet w2

(B) Acusicll Rletsle] yeliseal

(C) yd Acusicllet [Ratsloll calau@s

Qs
(D) Acusicllet Qlasloll caucqRls
[Asiu

s s [@es ddll Bauan
Ucdd doll clclide] UoHlol Aa

il AN B,

(A) Hell
(B) Hlel
(C) 7l
(D) a2t

o{lAounigdl 53 cesl cuamiue] siell ?
(A) aldsdl
(B) €l (kindness)

(C) As Racdl
0) et
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38.

39.

40.

For the systematic improvement of
teacher education, which of the foliowing
steps should be taken ?

1. To know about demand supply of the
teachers.

2. Updating curriculum of teacher
education courses.

3. Monitoring teacher education
programmes periodically.

4. Conducting continuous professional
development programmes.

Code :

(A) 1,2,3and 4
(B) 2, 3 and 4 only
(C) 1,3 and 4 only
(D) 1,2 and 3 only

All stand-alone Teacher Education

Institutions will be required to convert into

multidisciplinary institutions by 2030 to

become eligible to offer the

(A) B.Ed. One year programme

(B) B.Ed. Two years programme

(C) B.Ed. M.Ed. Three years integrated
programme

(D) ITEP —Integrated Teacher Education
Programme

To make teachers accountable. They
should be given

(A) Opportunities for professional
growth

(B) Training in teaching and examining
(C) Freedom in the selection of content
and teaching methods

(D) Transfer to places where they want
to serve

38.

39.

40.

Qlals yRlawnl cudRid YURL HIR2
ol AetHiell s UotAl Qcll ASA ?
1. @latsel Hiot-yrast QA g

2. @Qats ylBlawell veaAlsHHM
JURL sl

3. wH@s A Res y@aw
stelsto] WAl 524,

4. Udd =AdURs [@Asiu
sllsHl ucuaal,

ket :

(A} 1,2,3 ot 4

(B) $5c12, 3 Aol 4

(C) 5L 1, 3 vlal 4

(D) 951 1,2 vl 3

dHiH s [@QRas Qe deniut
A3 5l (offer) M2 01§

Qenauvudla el 2030 Yellul
URaldd ag us.

(A) As axla1B.Ed. stelsH
(B) Bax{laB.Ed. stalsn

(C) >t adell B.Ed., M.Ed. ol ds{@ct
stelsu
(D) ITEP - dsl@ct Rlais Blau siedsu

RQasla GrelRll olottcal W2 8¢
A 2l A ?

(A) uduR@s @si Wzl ds

(B) tallUst ol uIlaQl Hi2e] ylRlae
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41. Which are the needs for diagnosis during
curriculum development ?

i. help determine the objectives to
stress

ii. accommodate different types of
learner

iii. Introduce new materiais

iv. Set general objectives

(A) i, liand iv
(B) i, iii and iv
(C) ii, iii and iv
(D) i, ii and iii

42. Inteliectual, social, aesthetic, spiritual —

What are these in reference to curriculum
development 7

(A) Principles of designing
(B) Components of evaluation
(C) Types of instructional techniques

(D) Dimensions of content

43. The Tylor's model of curriculum
development does not include

i. Determination of objectives

ii. ldentification of educational
experiences

ii. Determination of social context
iv. Organize the educational experience

Code:
(A) i,iiand iv (B) i, ii and iii
(C) ii, iiiand iv

(D) i, iii and iv

41. vieAAsH Qs et (et
2ol 3Raudl 58 56 A B ?

sl 3l UR aiR AUl A ARl
sclHl AslL ylvet sdl

i. QAU ysRell A dlzdel
YHIdel sl

i, otcll ol dawr sl
iv. HHe 32l Bl s

(A) i, i, iv
(B) i, iii, iv
(C) i, iii, iv
(D) i, i, i

42. ARs, u®s, Wedael, vucanlds
— ol peuusH-[Asiuet deell
g eala®?
(A) HrUellell Rgidl
(B) HeUisotoll uesl

(C) uojtalell ylARullell YsR
(D) Ruataadetl uRHwL

43, veasH @slaetl 2laeRel HISEH

allell AM1A U otell ?

i, 3cjulle] [Auiag

i Sals wojerdlell vlawm scll

iii. aeu®@s deel AUlRd sl

iv. dals U@ wuctell dlsayl

5l

At
(B) i, ii wea\ i
(D) i, iii Aat iv

(A) i, ii ua iv
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44. Match the pairs of components of
curriculum and their meanings.

i. Continuity a. Avoiding gaps
and overlaps
ii. Balance b. Maintaining

proportion of
every learning
area

Getting a
holistic view of
reality and life

Constant
repetition
and review of
learning

iil. Articulation C.

iv. Integration d.

Code :
(A) i—=b,ii—c,iii—a,iv-d
(B) i—d,ii—b,iii—a,iv—-c
(C) i—c,ii~d,iii—-b,iv—a
(D) i~-b,ii—c,ii—d,iv—a
45. The steps for competency based model
are
I. Agreement on competencies

ii. Gap analysis of curricula

iii. Evaluation of competencies

iv. Experimentation on competencies

Code :
(A) |, ii and iii (B} i, i and iv
(C) i, iii and iv (D) i, iii and iv

46. Which one is not among the salient
principles of curriculum construction ?

(A} Principle of Totality of Experience
(B) Principle of Utility

(C) Principle of Simplicity

(D) Principle of Inclusion of Al life

Activities UHLA LA Rgial

44, UGRAMSHo U2S W doll wel] Al

RS Sl Gloidl.
i Alcle a. VS o
YRR iy

(pllerau) ofl siug

Uls Wt @ Ao
uMel PRiRd
$q

AAlAS AL wa
®clol BI\all

AHIL ALl

a(R sl Anadl
UtAAote] A,
Yol cldol WA

et alan el

(A} i~b,ii—-c,iii-a,iv~d
(B) i—d,ii—b,iii-a,iv—c
(C) i—c,ii—d,iii—b,iv-a
(D) i—b,ii—c,iii—d,iv-a

45. Ul UURA YRAMotell Qutet
sal 8 ?
8l w0l udaini@
. weAUSHHL B UAS(310]
QAN
iil. &M ctAle] HeRliset
v, &Hclle] yalalls:wl

ii. ddgeta b.

iii. WG o.

iv. } AU d.

¥ -
(A) 1, i W iii (B) i, ii ot iv
(C) i, iii Wa) iv (D) i, iii W iv

46. UeARSU AAlloll v Rl
ol AHLA AA otel] ?
(A) el UHIAAAR Rgid
(B) GualPlcttol Rgict
(C) wesllel Rgic
(D) Waetoll UM YgRRA
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47.

48.

49,

As given in NEP 2020, ____ .
is envisaged in curriculum for school
education.

(A) Deep sense of respect towards
fundamental duties and constitutional
values

(B) Conscious awareness of one’s role
in school

(C) Deep sense of respect towards
fundamental rights and
responsibilities

(D) Active awareness of one’s role in
society

In following statements, which one is not
correct ?

(A) Curriculum change is change in
institution

(B) Curriculum improvement is change
in certain aspects of curriculum

(C) Curriculum improvement is an
extension of existing curriculum

(D) Curriculum change is changing the
curriculum scheme

According to , curriculum
construction should confirm to the
principles of utility, creativity, inherent
interests of children.

(A) Realism

(B) Naturalism

(C) Pragmatism

(D) Idealism

47.

48.

49.

aucU-Blael el neusHAl

ollolcdHl NEP R00ML (@3l

Qe scuul wudl

(A) Haad % el dlduatell
el W Gist wieRell eastl

(B) aHi Wctol gfst Q-
el woyfd

(C) HOQlct 855 U GriretRcl ML
O ENMEEL INCIEL

(D) axHi Weitell efst el
uBa uelleldl

53 [Quttet w3 el ?

(A) veansHMl uRadet 2@
deuHi uRaddst

(B) woAUSH YRR Aed
oAU Hall B2clls WalHl uRddst

(C) weLUsHHL YHUREU A2 clciiiel
UeAUSH] (A0

(D) wleauusH uRads Aed

uig2LusHoll AowaltMl 3SR

AR VEAUSH AU
YRl GuABldl, uxstalictl, sl
ansHl AR @R Rgidsl
512 54 BSA,
{A) cliFclaalle
(B) usldaue
(C) cucstale
(D) wElalE

e
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50.

51.

52.

53.

What may be sociological basis of

curriculum development ?

(A) Ontology, Epistemology, Dogma and
Agency

(B) Metaphysics, Ontology, Structure
and Agency

(C) Epistemology, Ethics, Ontology and
Dogma

(D) Ontology, Epistemology, Structure
and Agency

T test, ANOVA or ANCOVA can be used
for data analysis only if the data are
obtained in scale.

(A) Nominal or interval
(B) Ordinal or ratio
(C) Interval or ratio

(D) Ordinal or interval

A test is administered on the same group
of the students twice during 15 days and
difference between averages of their
scores is found without any known reason.
What this incident is known as ?

(A) Statistical regression

(B) Geometric mean

(C) Standard error

(D) Sampling error

Which one of the following is not a system
of inquiry in qualitative research ?

(A) Discourse analysis

(B) Case study

(C) Rating scale analysis

50.

51.

52.

53.

vewsH [Asiaell wersualla

ULLRRARD 56 B ?

(A) acldia, st liian, uauoe
el sl (Awerll)

(B) decllniae, uctalliay, o
Wl s~

(C) suetlmia, suadluia,
At M AU HlLs

(D) Az, sustluia, oy
Ul sielel

Y ugldell yed doaan
vl Sl &R ¥ et ([Qedwg
HE2 't s:E, ANOVA 3 ANCOVA
ol Guallol s3] asta B .

(A) o (stictall) ugal vida
(B) suls ael ol

(C) didRAc Maleu ol

(D) sHis UAA BidRA

QaneflaQo As oz uz As o sAlo]
15 Raul A aud dacel s2aay
AlR] Ul RN aeflcdl 5120 Ao Qatoll
Yiicdislefl w219 2 dstad RNay
Hell, B teell 588 2 Anuge B 2
(A) visauallal wAs1MHet

(B) ogllelr Heas

(C) UHIgl gt

(D) [eslet gt

ol Asyniell ctauoll 568 At JRUHS
deluotofl o1ef]l 2
(A) et (discourse) [QaAual

(B) calsal weauy
(C) vl Qe

(D) Ethnography (D) A4
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54.

55.

56.

57.

Triangulation is a method used in
(A) Only in quantitative method

(B) Only in qualitative method

(C) Both qualitative and quantitative

(D) Very exceptional research

Which one of the following does not fall
under non-parametric techniques ? -

(A) ANOVA test
(B) Chi-square test
(C) Median test

(D) Rank correlation test

Positive skewness occurs when the peak
of curve

(A) is to the right
(B) is at the centre
(C) is to the left
(D} is not there

What is true in terms of alternative
hypothesis ?

(A) ltis an alternate of research
hypothesis

(B) It is an alternate of null hypothesis

(C) ltis an alternate of directional
hypothesis

(D) ltis an alternate of declarative
hypothesis

54.

55.

56.

57.

Astellsa Al uald & Bell GUAN
L 8,
(A) $5cl dvAHs usld

(B) $5cl RS usld
(C) OARUHS A AvAMS U ygld
(D) VoL % BUAEIY A2ltisl

A Doriol el wude Ayucla
yg@ui oell ad ?

(A) ANOVA sdlél

(B) s185 cl sél

(C) Heare s

(D) sHis Usoit sALL

e asell AU _ &l U usl
@Quncl %lct 1A B,

(A) @Rl suyA alat

(B) a2 &

(C) stoll cuxA &l

(D) ot A

AsEUs GesCuotloll AeeiMl ol Aounisll
9 WY D?
(A) A ddlust Gescustiel [Aseu B

(B) A Yol Gescustiell [Ascu B
(©) A Rauxyus Gescuotoll (dseu 8

(D) ARAotHs Gscusiioll [Ascu B

I
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58.

59.

60.

61,

Experimental mortality affects
(A) internal validity

(B) External validity

(C) Validity of data

(D) Expert validity

An intervention done for research
a method of data coliection.

(A) is

(B) may be
(C) should be
(D) is not

“An inquiry into the roots of aggression
in tribal males in India” — This problem
falls under which type of research ?

(A) Historical

(B) Ethnographic

(C) Phenomenological

(D) Case-study

Which of the following is an example of

reflective journal ?

(A) A journal maintained by students on
laboratory work

(B) A journal on experiences of a long
duration field work by students

{C) Ajournal consisting of articles written
by students on their reflections of
childhood

(D) A journal which provides detaijls
about efforts of teachers on student
learning

58.

59.

60.

61.

YA H2Relletd s WHR 52 D 3
(A) AidRs awsa

(B) cllal a8l

(C) Yedell 2l

(D) dersllar aensda

doluet W 52l e2aueto(ld
(Intervention) A M3l Asx 520
uald _

(A) B

(B) s€1U &l

(C) &lcll AR

(D) =&l

GULRAHL A [Aott YW 252w
Yool AW - 2L AHRUL 52Ul YSIRell
Helltlol ictolet ysia,

(A) AlQslRs
(B) Aeaoulys
(C) yleualniay
(D) calsel wely

Aot Ul 53 Rlctotiens oicio]
Gele & ?

(A) YRRALWUOUML SEAL SLHof
Qenellle] wolct

(B) [QeuellAA clict una Yyl sdey
AAsAHl AAc weje o] wolet

(©) [QeuellARN Qetiett ctryg uz
el Rldet (A cRet Al wola

(D) Qaueflollon wtetetot Uz Blatslol

Yol (Qatedl 29 52 el
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62.

63.

64.

in portfolio assessment student
performance is assessed based on

(A) the time taken by the student to
complete the activity

(B) the rubrics for judging the level of
performance of student

(C) sincerity shown by the student in
completing the activity

(D) appropriateness of language and
presentation of the student

Which of the following statements about
portfolio is not true ?

(A} Portfolio contains the samples of
work done by the students over a
period of time

(B) Portiolio provides scope for involving
students in assessment of their own
learning

(C) Porifolio presents the learning
journey of each student

(D) Portfolio presents a cumulative
record of performance of students
on all the tests conducted by the
teacher

According to Bloom’s taxonomy, which
of the following performances of the
learner does not assess learning at the
understanding level ?

(A) Giving example of a concept

(B) Defining a concept as stated in a text
book

(C) Stating the difference between two
concepts

(D) Stating the meaning of a concept in
one’s own words

62.

63.

64.

QERAA Heusetrl Qatellon
Bullcle] Hel Sl Slloll JUEUR sReUM
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65. Which of the following statements about
the difference between formative and
summative assessments is not true ?

(A) The monthly test is a formative test
and the annual test is a summative
test

(B) A formative test is ‘assessment
of learning’ and summative test is
‘assessment for learning’

(C) A formative test can be used for
diagnosis whereas the decision of
promoting a student to the next class
is based on a summative test

{D) Formative assessment is done
during teaching but the summative
assessment is done at the end of
teaching

66. Which of the following assessments
done by a teacher can be considered as
a summative assessment ?

{(A) Questions asked by a teacher during
a lesson

(B) A unittest administered after teaching
a unit

(C) An assignment given to students for
discussion in the next class

(D) An oral quiz conducted to help
students know how much they have

65. o{lAott Udl 53 (Atitet Uelteits A

UHS@AA yeliset 2ol Ae eallaq
otefl ?

(A) HRs sWE A WwAMs D, alls
s A Wwusd B.
(B) RUsUeHs 5ME| AtaAUote] Heis0l

53 8, »AR wsl@da saqdl
WA HIZ HERU S0 52 D

(C) WUslleHs sl G0l R gLt
e 53l asta B, weud Qaela

Gual adlHl usletal H2oll Rl
U@ 50 gl Qaia B,

(D) RUsHUS YRS B Ual
ealat scUml wud B, weud
SR YeRUisa At Ul
A seuM WA B,

66. [Blats il saMi WAAL ool
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(B) |sHe] wtaAUst Y3 w2l ughl
Aci wacll Asy 5104

(C) ol cAldHl scuell uul w3
(QateRARA WA reltayesie]

(D) 818 As ya (Qenell deen
UMW oflven B, A Rarel2Q

learnt of a topic UHE Q33 Qoumi wladl G




67.

68.

69.

In the context of stages of pedagogical

analysis, which of the following is not a

stage ?

(A) Formulation of objectives in
behavioural terms

(B) Analysing the learning needs of
students

(C) Conduct content analysis

(D) Selecting appropriate methods and
techniques

In which Assessment procedure a
learner’s performance is not compared
with another learner ?

{A) Norm Referenced Testing
(B) Criterion Referenced Testing
(C) Formative Assessment

(D) Summative Assessment

Which of the following is a presage-
product criterion for evaluating teacher
performance ?

(A) Personal background ofthe teacherin
relation to the classroom participation
of students

(B) Marital status of the teacherin relation
to the ambitions of the student

(C) Educational qualification of
the teacher in relation to the
achievement of students

(D) Method used by the teacher and

student achievement

67.

68.

69.

AU s Rl (A ™RLell dotssiatl
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70. The situation in which the learer uses
his/fher own insight to solve the problem
is known as
(A) One-path situation
(B) Two-path situation
(C) Multi-path situation
(D) Non-path situation

71. Choose the correct order of the steps of
mode! of developing instruction design
given by Heinrich and Molenda.

1. Require learner participation
2. Analyse learners

3. Evaluate and revise

4

) Sel_ect methods, media and
materials

5. Utilise methods, media and
materials

6. State the objectives.

Code :

(A) 6,2,4,1,3,5
(B) 6,2,4,5,1and 3
(C) 2,6,4,5,1and 3
(D) 1,2,3,6,5and 4

72. Which of the following is not a benefit of
using ICT in education ?
(A) Decreased teacher workload
(B) Reduced cost of education

(C) Increased student engagement and
motivation

(D) Improved access to educational
resources

70. @ WRRAMHL M G3ctcn W2
(Qenell Wettel wict2yosel Gualot 52 B-Q
URRAA sl ottmell 2owu B 2
(A) Alsu(l
(B) (ol
(C) agmuoll
(D) 1R\t

71. 3R el NASIA WA Bofd 2tet
Alogeilell [@Asldetl YRHIotoll Dutellell
A sH U¥e 52A.

1. weRctoll usouBlcioll w3Raud

2. AtAdle] [Qeamal 53,
3. HElSel el YutA 53
4

CuglRA, HieaAl wA wmafle
yieoll s

5. UG, M) wUA Wl
Guallat s3

6. &2l Al

et :

(A) 6,2,4,1,3,5

(B) 6,2,4,5,1 a1 3

(C) 2,6,4,5 1 wa 3

(D) 1,2,3,6,5 ua 4
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73.

74.

75.

Which among the following is a purpose

of a display portfolio ?

{A) To demonstrate mastery of learners
in any curricular area

(B) To document students specific
learning outcomes

(C) To diagnose the difficult areas for the
learners

(D) To demonstrate highest level of
achievement attained by learners

The visual and auditory interactive
communication through ICT among
people staying at varied locations is
specifically termed as

(A) Teleconference
(B) Video conference
(C) Blogging

(D) E-mailing

According to Vygotsky’s sociocultural |

cognitive theory, which of the following
points are important 7
1. Culture plays significant role in
learning.
2. Teacher should make the students
perform better in examination.
3. Language is a root of culture.
4. Students cannot learn by their own
experiences.
5. An individual learns on the basis of
his role in community.
Code :
(A) 2,3and 5
(B) 3,4and5
(C) 1,3and 5
(D) 1,3and 4

73.

74.

75.

olActuiell Brd W AAMA ¢

sA B ?
(A) AuaL vieusHla Al Ayeey
yeeld 53¢

(B) [ReueflAA (Alle vzt
[Auuliulle] exclldw s 5
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(A) 2cll Slesllol
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@QolRslotl MHUBS - uirglds sliclias
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Wsel:

(A) 2,345

(B) 3,4 34 5

(C) 1,35
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76.

77.

78.

helps in connecting previous
knowledge of the students with new
knowledge, according to Asubel.

(A) Study habits
(B} Advance culture
(C) Advance technology

(D) Advance organiser

Arrange the following in correct ordrer
according to the model developed by the
team of Roger Bybee.

1. Evaluation
Explanation
Elaborate/extend

Explore

o & 0N

Engage
Code :

(A) 5,4,2,3and 1
(B) 4,5,3,2and 1
(C) 2,1,3,4and 5
(D) 5,4,2,1and 3

Behaviour pattern that increases in
frequency when followed by a reward is
known as

(A) Shaping
{B) Classical Conditioning
(C) Generalisation

(D} Operant Conditioning

76. YA Yy (Qauelllel ydsist
U stali st s Ml HEEIY

Al 8,

(A) weuy 2cll
(B) wRINH s
(C) B JDEEL
(D) uRIH Aolss

Aarz collell A @QswAdl ydHietst
VU ol Aotlad AU $HHL SNs AL

77.

Hesel

szl

[Acjcl 524, (Elaborate)
UeAMEL (Explore)

s odtsa (Engage)
udet:

o &~ 0N~

(A) 5,4, 2, 3 ua 1
(B) 4,5,3,2 ual 1
(C) 2,1,3,4%a 5

(D) 5,4,2,1 W 3

Uldsn (Reward) Hoellal 5120, clcdstsll
dRugell vug af A Ax 58 B,

(A) USclR

78.

(B) arllay w(@rituet
(C) AMlR{ls20L

(D) 5125 wlAitlel
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79.

80.

81.

82.

Which of the following dimensions are
NOT included in D and M information
system success model ?

Information quality
System quality
Service quality
User satisfaction
User readiness

. Need of service
Code :

{A) 2and 3

(C) 5and 6

I

(B) 3and 5
(D) 3and 4

Which one of the four creative commons
core conditions is always included in a
CC license ?

(A) Share Alike (SA)

(B) No Derivatives (ND)
(C) Attribution (BY)

(D) Non Commercial (NC)

What is the full form of PERT ?

(A) Programme Ensuring Research
Theory

(B) Programme Evaluation and Review
Technique

(C) Programme Enhancement and
Review Technique

(D) Programme Effective Research
Theory

Organisational climate comprises of four
dimensions. Select the appropriate one
from the following options.

(A) Rule oriented, value oriented, result
oriented, implication oriented

(B) People oriented, result oriented,
context oriented, value oriented

(C) Result oriented, rule oriented, people
oriented, implementation oriented

(D) People oriented, rule oriented, result

79.

80.

81.

82.

ol Aotimiell s widtioll AHA 5l ua
Al MR yauell goc wlauet
ucl o2l ?

1. 1Rl daiaxi

2. yeudlefl opereirt

3. Actoll O)QLarl

4. Guelsdleil Al

5. Guellscllel daudl

6. Acloll w3Ralc

Udet :

(A) 2 ual 3 (B) 3ua 5

(C) 5 dal 6 (D) 3 Wl 4

sl olAell wR BAda slHeu

52 5B atetmisll Sloll eRaw wHLA
sCUHL A B ?

(A) Share Alike (SA)

(B) No Derivatives (ND)

(C) Attribution (BY)

(D) Non Commercial (NC)

PERT o Y2 «lH § B ?

(A) Programme Ensuring Research
Theory

(8) Programme Evaluation and Review
Technique

(C) Programme Enhancement and
Review Technigue

(D) Programme Effective Research
Theory

dosella alcdiaRelell aR Wl B, {2

widet @Qsciliiel A= [@seu uie s

(A) st ciall, yeu cell, uReun
call, slAaeiael

®) As call, uRgun call, eelaall,
ye aall

(C) uReun ctell, Ran cell, ds aall,
wWHA cell

D) As call, Ran cel, uReuH aal,

otiented, innovation oriented sty eidiet (innovation) ctefl
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83. Some statements are given below.
Select the one which is incorrect.

(A) Educational management involves
making strategic decisions

(B) Educational managementcoordinates
and directs the human resources to
meet the goals

(C) Educational administration involves
making operational decisions

(D) Educational administration only
reviews the goals of education

84. Setting up an institution building focuses
on the creation or expansion of institution
and the technical skills for operating
them. Along with that the most important
oneis

(A) Transparency

(B) Integrity

(C) Resources

(D} Public accountability

85. Leader — Member Exchange Theory
consists of four stages in sequence. Select
the option showing correct sequence.

(A) Role making, Leadership making,
Role taking, Team making

(B) Team making, Role making, Role
taking, Leadership making

(C) Role taking, Role making, Leadership
making, Team making

(D) Team making, Role taking, Role
making, Leadership making

83. o{lA wetl QuislMiell vig @t
ue s

(A) 2el@s calcRalUel ceULMS
(Aol Aaua uisd B,

B) Aa@ds cacraust AR QAR
HE Hlolel Aslblot Hdleslel Wal

Usclal 52 B,
€) dalds adlae Baas R
USA B,

D) de@s adlae Aa@ls tAdol g5ct
wlan 52 &,

84. ae] [ulel Arelell u¥ol o Asll
Q2@ st Aol HaEa Hizell ds@)

slatcal R Ut 3d 52 . Aell ud Aell
wWoallell altold 8.

(A) wReleld

(B) w3l

(C) dauttell

(D) &R wallHEld]

85. Adi- ye ([AAHa (Leader - Member
Exchange) Rligict AR s@s Quieldl D.
Al M eladl [@seu ue 53l

(A) @st [RigL, A Rulg, st
Adl, dx Anlel

(B) &l [Anlgl, ¢Rst Qg ost
adl, aldea BAnlg

(©) YRAst Adl, Rt AnlRL, Adect
Ry, dlu Al

(D) 2l [y, st Adl, et

(i, Adea @nial
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86. Which one is not the leadership theory
as stated below ?
(A) Transactional Leadership Theory
(B) Traditional Leadership Theory
(C) Contingency Leadership Theory
(D) Charismatic Leadership Theory

87. Match the items of List — | with List— I :

List -1
1. Appraisal cost I.

List -~ I
Company
spends with
the intention
of reducing
errors in
products.

Means to
quantify the
total cost of
quality related

2. Failure cost ii.

efforts and
deficiencies.

3. Prevention cost iii. Incurred by a
manufacturer
for defective
goods.

4. Total cost iv. Fees paid by
a company
for defective
product
ahead of
delivery.

1 2 3 4

(AY i v iii i

(B) v iii i i

(C) iii i v

(D) i iii iv i

86. o{lAcimiddl 52 Adqcct Rgict otell 2
(A) 2leB52E Adecl Rlgict

(B) URURAAN At Rgict

(C) 58lewar{l At Rgict

(D) AHSIRS aldeat Rgict

87. A€l | wal Il ofl Qo a2 =5ls
olollell,

A i
(B) i
© i

€l ~ 1

EL i.

HSdR

Rlsacusll i

UScR

. [Aatrel i,

USSR

5A USdR v,

A |
Geute 1 wiHloll

ualstott dqell
suol wal 52 B,

UzA oLl
Aol yauwl
U oYolciloll
5 UScRq]

US55l
534,
wiHlysd e

Hi2 Gaules
Gl WUl B,

Belladl udcu

wiHlawnn Geule
M2 suoll gLzl

ysagll 4l

() i i v il
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88.

89.

90.

91.

The three step model of change was
initially developed by

(A) Karl Pearson
(B) Kurt Lewin
(C) L. Kohlberg
(D) Kurt Koffka

Which one is not included in the list of four
pillars of total quality management ?

(A) Customer focus
(B) Discrete improvement
(C) Employee patrticipation

(D) Process oriented approach

Which one of the following does not come
under the jurisdiction of NAAC ?

(A) Universities in India
(B) Both affiliated and autonomous
college

(C) Distance education institution of
higher education

(D) Teacher education institution

“Programme of Action — 1992"” was
formed to review

(A) National Education Policy 1986
(B) RCI Act

(C) Recommendations of NCERT for
special education

(D) Recommendations of Ishwarbhai
Patel Committee

88. uRcdelail Al Wuell uldxistsll
A3l (A5 st &ell.

(A) sld Marla
(B) s¢ At

(C) AA Slecoldl
(D) s& slgst

89. JQlatll Ysei AUl AUR

2cdclo(l 20 dlHl atell At UdAl

st ?
(A) &5 UR Bodls20L

(B) il yul
() svaudloll Aseublal
(D) yBaucell vdon

90. {lAcuniell 585 citold NAAC ol

sA AR ML o2l et
(A) ellRetoll A [Qencall

(B) Aot Wal ATt Glol HEl
[Qauetll

(C) Gt @eawaiell grasll Rewgsl
Hra

(D) Rlats Blatel e

_ofl dallaw e W2 dlaux

s Wselet 1992 ofl sl

s2aml acl el

(A) AU Rl oA - 1986

(B) RCI Act

(C) @@ [Raw 2 NCERT
ol el

(D) Saueuss wzet ARl eleumel

o1.
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92. Person with Disability Act 1995 was

93.

94.

formed under Atrticle of Indian
Constitution.

(A) 21A (B) 15

(C) 253 (D) 17

By which other name the Model, showing
interaction between the components
suggested by ICF, is known as

(A) Biophysical Model

(B) Biopsychological Model

(C) Biochemical Model

(D) Biodiversity Model

Which ofthe following are the characteristics
of inclusive education ?

1. Invigorating social equity
2. Equalization in education

3. Economic development of the
students

4. Effective impiementation of group
dynamics

5. To prevent commercialisation of
education

6. Developing positive attitude of all
kind of students.

Code :

(A) 1,2,4,6
(B) 2,4,5,6
(C) 3,4,5,6
(D) 1,2,3,6

92.

elRclal oitiRutell viojBDE
g0 [Asctiorset w(Al2un 19954(1

Yol ScHi vl

93.

94,

(A) 21A
(C) 253

(B) 15
) 17

ICF YRd uesl aell ujdBay
galacl ulQuiaal oflst su oy
wlovciHl A 8§ ?

(A) Ba2uRs yiat

(B) Barelldsilts ylQHlel
(C) Faiualls Yol
(D) Kol YaMiel

o{lAottriel uHAus [@aeletl
deel s ) 7

1. AHRs Asugicla Us otellad]l
2. [QaeuHl Aot
3. [Qaela 2uEs @sta

4. % dUCAotoll UUBBIRS
GUzloL 5l

5. [Qewlo] cauuidls2el westad

6. bl ysieell (Qeneflzleau
&511Ms aclBllel [Asia sdl.

Ydel

(A) 1,2,4,6
(B) 2, 4,5,6
(C) 3,4,5,6
(D) 1,2,3,6
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95.

96.

97.

The process of keeping flexibility in
content, teaching process, evaluation
process and in physical environment in
order to fulfill the requirement of all kinds
of students including the “students require
special educational needs” is known as

(A) Environmental adaptation

(B) Fulfillment of psychological needs
{C) Curriculum adaptation

(D) Psychological flexibility

NEP - 2020 recommended that the
regions of the country with large population
of socio-economically disadvantaged
groups would be declared as

(A) Special Education Zones
(B) Special Economic Zones
(C) Socio-Educational Zones

(D) Socio-Economic Zones

Which of the following are the
recommendations of RPWD Act 2016 ?

1. Provide free education to disabled
children from 6 to 18 years of age.

2. Fourpercentseats should be reserved
for the persons with disabilities in
government job.

3. Trainers working in professional
rehabilitation centers should be

registered.
Code :
(A) 1,2and 3 (B) 2and 3
(C) 1and 3 (D) 1and 2

95. QG dal@s 3Rad HAAdl

Qe UBEA AU YsRell
QenelAell w3Radl yel sa

W2 [Quaarg, vealust ylbal,

yediset yBa wa llds
ARl Ad@sAl  Avale(]l
yBaua _ 53 d.

(A) vallaefla wuaggcist (Adaptation)
(B) HalldsulAs 3Rl Yalal
(C) WeAUSH WogEiol

(D) Holldslills Acl@sc

96. NEP — 2020 3 elclHal 531 8 3

Baell, uHBs — wls A dRd
(ueslcl) yellell cauus el

ucdl ytala ElL
32 scllHi vl

(A) [l Q&R At

(B) @2 wu(Eds At

(C) wHRBs — 2ads Aot
(D) wHRs — 2ulls Hlot

97. olAcuriell 58 @Rl
RPWD Act 2016 ol & ?
1. waH wnsla 6 ol 18 avell
GuR Yl Hsd Rew wud,
2. AsHA wRlddl cabaul 1
ustdl olsdlalul 4 2st Assl

weltid vl
3. cacuRfl Yelduol deatl sIH
sl y@aslell alurll sl
Udel :
(A) 1,2 U 3
(C) 1ua 3

(B) 2w 3
(D) 1l 2
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99.

00.
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g

is helpful to the blind students
to work with computer and other electronic
devices.
(A) QR code reader
(B) Bar code reader
(C) Speech recognition software
(D) OCR

Which of the following develop learning
disabilities in the child ?

1. Autism
2. Cerebral paisy
3. Hearing impairment
4. Partial sight impairment
Code :
(A) 1,2and 4
(B) 1,3and 4
(C) 2,3and 4
(D) 1,2and 3

The full form of UNCRPD is

(A) United Nations Collaboration on
Rights of Person with Disabilities

(B) United Nations Convention on Rights
of Person with Disabilities

(C) Union Nationalist Convention on
Rights of Person with Disabilities

(D) Union Nationalist Collaboration on
Rights of Person with Disabilities

98.

99.

100.

gRele (Blind) wndA siyze wa
ot [AMY Atell WA 514 54

—— MEEIU D,

(A) QR 8ls {lsz

(B) olt= sls {ls? (BCRY)

(©) Wl RAGAgsiet AR
(D) OCR

ol Aotiniell 56 ol oltosni
VAot WAHALA [As1y 53 B ?
1. ot

2. HelRls yeusld

3. staglell vl

4. £(Rell wildls wid

el :
(A) 1,2 ual 4
(B) 1,3 ual 4

(C) 2,3 34 4
(D) 1,23 3

UNCRPD oj Yz «tM @,

(A) United Nations Collaboration on
Rights of Person with Disabilities

(B) United Nations Convention on Rights
of Person with Disabilities

(C) Union Nationalist Convention on
Rights of Person with Disabilities

(D) Union Nationalist Collaboration on
Rights of Person with Disabilities
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